
א ١١١ אא 

 אא אאאא 
 

 

- ٢٦ - 

אW


321

1111
RRRRT

++=

Ω
+

Ω
+

Ω
=

220
1

330
1

680
11

TR


)109(1 3−×=
TR



Ω= 111TR
T

T
X I

R
RI )(

2

=

10)
330
111(=XI

A36.3=XI


אאאא
אאאאאאאא

אאK
W

F٣J١٢KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKE
nT PPPPP ++++= ..........321

W
TPאאאאא
nPאאאn 
 

F٣J٨WE
אאאאאאW



VS

-

+

R1

680Ω
R2

33Ω
R3

22Ω

2A

 
F٣J٨E 


